Binomial Distribution Practice Problems

1. 1. For a Binomial Distribution the mean is 8 and standard deviation is √5. Write out all the terms of the distribution.

2. Eight coins are tossed simultaneously. Find the probability of getting at least six heads.

3. A pair of dice is thrown 5 times. If getting doublet is considered a success. Find the probability of 2 successes.

4. A perfect cube is thrown 8 times. The occurrence of 2 is called a success. Find the probability of getting 4 successes.

5. The probability that an evening college student will graduate is 0.5. Determine the probability that out of 7 students (i) none (ii) one (iii) at least one will be graduate. 

6. Ten coins are tossed simultaneously. Find the probability of getting 
(i) at least seven heads 
(ii) exactly seven heads 
(iii)at most seven heads

7. During war 2 ships out of 10 was sunk on an average in making certain voyage. What is the probability that at least 4 out of 5 ships would arrive safely?
Short Answer

8. A hockey goaltender has a save percentage of 0.920. This means that the probability of any single shot taken on the goaltender being a goal is 0.08. What would be the expected number of goals scored on this goaltender in a game where she faced 35 shots?
9. A manufacturer of halogen bulbs knows that 3% of the production of their 100 W bulbs will be defective.

What is the probability that exactly 5 bulbs in a carton of 144 bulbs will be defective?
10. A fair die has four faces numbered one to four. What is the probability of rolling a two exactly three times in ten rolls of the die?
11. A packet of carrot seeds has a germination rate of 92%. In other words, the probability of any seed sprouting is 0.92. How many seedlings would you expect in a row of 50 seeds?
12. A packet of vegetable seeds has a germination rate of 96%. What is the probability that exactly 10 of 12 seeds planted will sprout?

Problem

13. A student writes a five question multiple-choice quiz. Each question has four possible responses. The student guesses at random for each question. Calculate the probability for each possible score on the test from 0 to 5.
14. There are 10 members on a committee. The probability of any member attending a randomly chosen meeting is 0.9. The committee cannot do business if more than 3 members are absent. What is the probability that 7 or more members will be present on a given date? 
15. A salesman has a 20% probability of making a sale to any customer who enters his department. On a typical day, he will meet 30 customers. What minimum number of sales will he have an 88% certainty of making for any given day?
